
Y2 – Spring – Block 2 – Step 11 – Doubling and halving Answers

Question Answer

1

The other pictures show adding 2 instead of doubling.

2

a)

b)

3

a) Double 3 is equal to 3 × 2
Double 3 is equal to 6

b) Double 8 is equal to 8 + 8
Double 8 is equal to 8 × 2
Double 8 is equal to 16

4

a) Max has subtracted 2 instead of divided by 2
b)

5

a) Half of 10 is equal to 10 ÷ 2
Half of 10 is equal to 5

b) Half of 22 is equal to 22 ÷ 2 
Half of 22 is equal to 11

6
No
Jo has halved Sam’s number when she should have doubled it. Sam’s number is 8

7

a) 40
b) 30
c) 5
d) 20
Children may have used different methods.
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